Sr

Questions

39.45 +7.3

3.12+4.01

24........... 2.6

Symple ">" stands for

20% of 540 is

When multiply a decimal by 100, we move decimal point 2 places to the.

When multiply a decimal by 100, we move decimal point 2 places to the.

While putting ............ at the right of a dicimal does not effect its values.

Answers Choice

.96.75
. 9.575
. 967.5
. 9675

. 3.41
. 2.31
71.3
713

&lt;

&gt;

. Is less than

. Is greatere than

Is equal to

Greaten than andequal to

37
108
27
270

Left
Down
Up
Right

Left
Down
Up
Right

100
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